Oggetto: [Amm_GE] Quote QD71250 from Mouser Electronics, Inc. Mittente: Mouser Quote Update < youssra.zarouky@mouser.com>

Data: 17/06/2022, 09:14

A: <amministrazione_genova@spin.cnr.it>

Quote

Quote Number : QD71250

Contact Name: **VALERIA TALAMO** Original Date Requested: JUN 17, 2022

> Customer Number: 60C8EB6

Valeria Talamo,

Thank you for the opportunity to quote on your requirements. The attached quote is valid for 30 days from the original date quoted. When placing your order, please refer to Mouser quote number QD71250 to ensure you receive the quoted prices. If you prefer to order from our website, please click here to place your order now.

In caso di ordine, si conferma modalita' di pagamento agevolata per Enti Pubblici NETTO 30 GIORNI DATA FATTURA. Spediamo con FEDEX: sdoganamento gestito a nostro nome e conto in Francia e nessun costo di trasporto per totale ordine maggiore di EUR 50. La fattura viene emessa tramite rappresentante fiscale francese, quindi in fattura trovera' i seguenti dati: FISCAL SOLUTION SARL 23 Rue du clos d'orleans Fontenay-sous-bois 94120 FRANCE VAT FR FR27512466913 Avrete sicuramente p.iva iscritta al VIES, viene emessa fattura intracomunitaria esente IVA, no fattura elettronica

If you have any questions, please reply to this email or call our Customer Service Team in Milan at +39 025 750 65 71.

Youssra Zarouky **Customer Service**

Please direct inquiries to: Mouser Electronics, Inc. Milan Office Centro Direzionale Milanofiori Strada 1 Palazzo E1 20090 Assago, MI Italy

Local: +39 025 750 65 71

italy@mouser.com

Milan Office Hours:

8:30am to 5:30pm GMT+1 (Monday - Friday)

youssra.zarouky@mouser.com

Mouser Electronics is an authorized distributor of the product(s) being quoted, and will/has purchased the product(s) being quoted directly from the manufacturer or authorized supply chain. Chuck Amsden / Director of Quality

Mouser

All orders are subject to all terms and conditions displayed at: http://www.mouser.it/saleterms/

-Allegati:

mouser-service.jpg 21,4 kB

mouser_quote_QD71250.pdf 77,0 kB

1 di 1 21/06/2022, 12:37

IT

CNR-SPIN **CORSO PERRONE 24** 16152 GENOVA, GENOVA



www.mouser.it

Quote Number:

QD71250

Page 1 of 3

Customer Number Customer Reference Information Requested by Prices valid for 30 days from date quoted unless otherwise indicated 60C8EB6 Valeria Talamo

Line	Mouser Part Number		Quantity	Unit Price	Extended	Minimum	Availability / Comments
Number	Customer Part Number			(EUR)	Price (EUR)	Multiple	
	Manufacturer Part Number						
	Description						
1	71-CW5-J-0.5 [CUST PN: MFR PN: CW005R5000JB12 5watts. 50hms 5% Vishay Wirewound Resistors - Through Hole RoHS: Non-Compliant/Contains Pb ECCN: EAR99 / US HTS: 8533210080	Oate Quoted: JUN 16, 2022	10	1.900	19.00	MIN: 1 MULT: 1	Average factory lead time: 64-66 weeks Unit Weight: 0.0042 Kg
2	71-ALSR03R2000JE12 CUST PN: MFR PN: ALSR03R2000JE12 3watts 0.2ohms 5% Vishay Wirewound Resistors - Through Hole RoHS: Compliant ECCN: EAR99 / US HTS: 8533210080 Active: This product is currently active and no plans this time.	ate Quoted: JUN 16, 2022	10	2.20	22.00	MIN: 1 MULT: 1	Stock: 78 Can Ship Immediately Average factory lead time: 13 - 16 weeks Unit Weight: 0.0007 Kg
3	579-MCP6004-I/P CUST PN: MFR PN: MCP6004-I/P Quad 1.8V 1MHz Microchip Operational Amplifiers - Op Amps RoHS: Compliant ECCN: EAR99 / US HTS: 8542330001 Active: This product is currently active and no plans this time.	ate Quoted: JUN 16, 2022	10	0.595	5.95	MIN: 1 MULT: 1	No Stock - 3237 on order. Estimated date NOV 08, 2022 Average factory lead time: 42 - 52 weeks Unit Weight: 0.00162 Kg
4	595-LM358P CUST PN: MFR PN: LM358P Dual Op Amp TI Operational Amplifiers - Op Amps RoHS: Compliant ECCN: EAR99 / US HTS: 8542330001 Active: This product is currently active and no plans this time.	ate Quoted: JUN 16, 2022	10	0.379	3.79	MIN: 1 MULT: 1	Stock: 133491 Can Ship Immediately Average factory lead time: 42 - 52 weeks Unit Weight: 0.00045 Kg
5	926-LM78L12ACZ/LFT7 CUST PN: MFR PN: LM78L12ACZ/LFT7 100-mA, 30-V, linear TI Linear Voltage Regulators ROHS: Non-Compliant ECCN: EAR99 / US HTS: 8542390001 Active: This product is currently active and no plans this time.	ate Quoted: JUN 16, 2022	10	0.709	7.09	MIN: 1 MULT: 1	Stock: 69 Can Ship Immediately Average factory lead time: 42 - 52 weeks Unit Weight: 0.0004536 Kg
			Thank you	for the opportunit	ty		





Phone/Fax: +39 025 750 65 71/+39 025 751 64 78 ELECTRONICS. youssra.zarouky@mouser.com

Customer Service Representative:

Youssra Zarouky

www.mouser.it

Quote For: CNR-SPIN **CORSO PERRONE 24** 16152 GENOVA, GENOVA IT

Quote Number:

QD71250

Customer Number	Customer Reference Information	Requested by	
			Prices valid for 30 days from date quoted unless otherwise indicated
60C8EB6		Valeria Talamo	

Line	Mouser Part Number	Quantity	Unit Price	Extended	Minimum	Availability / Comments		
Number	Customer Part Number		(EUR)	Price (EUR)	Multiple			
	Manufacturer Part Number							
	Description							
6	926-LM79L12ACZ/LFT4 Date Quoted: JUN 16, 2022 CUST PN: MFR PN: LM79L12ACZ/LFT4 100-mA, negative lin TI Linear Voltage Regulators RoHS: Non-Compliant ECCN: EAR99 / US HTS: 8542390001	10	0.815	8.15	MIN: 1 MULT: 1	Stock: 4065 Can Ship Immediately Average factory lead time: 6 - 7 weeks Unit Weight: 0.0004536 Kg		
	Active: This product is currently active and no plans to discontinue at this time.							
7	845-30.602 CUST PN: MFR PN: 30.602 AK300/2 PC 45DegGry Altech Fixed Terminal Blocks RoHS: Compliant ECCN: EAR99 / US HTS: 8536694040	10	1.05	10.50	MIN: 1 MULT: 1	Stock: 120 Can Ship Immediately Average factory lead time: 6 - 7 weeks Unit Weight: 0.0028257 Kg		
8	845-30.603 CUST PN: MFR PN: 30.603 AK300/3 PC 45DegGry Altech Fixed Terminal Blocks RoHS: Compliant ECCN: EAR99 / US HTS: 8536694040	10	1.57	15.70	MIN: 1 MULT: 1	No Stock - 104 on order. Estimated date JUL 30, 2022 Average factory lead time: 33 - 34 weeks		
9	845-30.604 Date Quoted: JUN 16, 2022 CUST PN: MFR PN: 30.604 AK300/4 PC 45DegGry Altech Fixed Terminal Blocks ECCN: EAR99 / US HTS: 8536694040	10	2.03	20.30	MIN: 1 MULT: 1	Stock: 14 Can Ship Immediately Average factory lead time: 7 - 8 weeks		
10	80-ESK227M050AH1AA Date Quoted: JUN 16, 2022 CUST PN: MFR PN: ESK227M050AH1AA 50V 220UF 85C 2k Hou KEMET Aluminum Electrolytic Capacitors - Radial Leaded RoHS: Compliant ECCN: EAR99 / US HTS: 8532220020 Active: This product is currently active and no plans to discontinue at this time.	10	0.333	3.33	MIN: 1 MULT: 1	Stock: 658 Can Ship Immediately Average factory lead time: 26 - 33 weeks Unit Weight: 0.00811125 Kg		
	Thank you for the opportunity							

Thank you for the opportunity







Youssra Zarouky

Phone/Fax: +39 025 750 65 71/+39 025 751 64 78

youssra.zarouky@mouser.com www.mouser.it

Quote For: CNR-SPIN **CORSO PERRONE 24** 16152 GENOVA, GENOVA

IT

Quote Number:

QD71250

Page 3 of 3

Customer Number	Customer Reference Information	Requested by	
			Prices valid for 30 days from date quoted unless otherwise indicated
60C8EB6		Valeria Talamo	

Number Bunchstuter Part Number Description 11 St. 253 Sept. 253 S	Line	Mouser Part Number		Quantity	Unit Price	Extended	Minimum	Availability / Comments
Description	Number	Customer Part Number			(EUR)	Price (EUR)	Multiple	
11								
CUST PN: MFR PN: T824 13-18;992-5/16 (2.0 Flambeau Storage Boxes & Cases RoHS: Non-Applicable ECCN: EAR99 / US HTS: 3923109000 13	11	567-125319 CUST PN: MFR PN: 125319 Extrusion Cut to Len Wakefield-Vette Heat Sinks RoHS: Compliant ECCN: EAR99 / US HTS: 7616995190 Active: This product is currently active and no plans		1	28.36	28.36		Average factory lead time: 12 - 13 weeks
CUST PN: MFR PN: OPA541APG3 Hi-Power Monolithic TI Operational Amplifiers - Op Amps RoHS: Compliant ECCN: EAR99 / US HTS: 8542330001 Active: This product is currently active and no plans to discontinue at this time. * Delivery date for this shipment has not been confirmed by the manufacturer. Check back later on our website at www.mouser.it for	12	CUST PN: MFR PN: T824 13-1/8x9x2-5/16 {2.0 Flambeau Storage Boxes & Cases RoHS: Non-Applicable	ate Quoted: JUN 16, 2022	1	16.21	16.21		Average factory lead time: 4-6 weeks
manufacturer. Check back later on our website at www.mouser.it for	13	CUST PN: MFR PN: OPA541APG3 Hi-Power Monolithic TI Operational Amplifiers - Op Amps RoHS: Compliant ECCN: EAR99 / US HTS: 8542330001 Active: This product is currently active and no plans		4	23.70	94.80		4 on order. Estimated date TBD* Average factory lead time: 39 - 48 weeks
								manufacturer. Check back later on our website at www.mouser.it for

Thank you for the opportunity



